Variante | ( Covrige eFBonime).
Exercicel : 6pts
1. 2pts
function palin_ligne(var a :mat ; | :integer) :boolean ;
var j.integer; pal:boolean;
begin
j:==1; pal:=true;
while (j<n div 2) and pal do
if a[l,j]<>a[l,n-j+1] then pal:=false
else j:=j+1;
palin_ligne:=pal,
end ;

2. 2pts

function nbpalin_ligne(var a:mat):integer;
var i,s:integer;

begin

s:=0;

fori:=1tondo

if palin_ligne(a,i) then s:=s+1;
nbpalin:=s;

end;

3. 2pts

function nbpalin_colonne(var a:mat):integer;
procedure transposer (var a_ mat):
var 1,j:integer; x:char;

begin

for i:=1 tondo

for j:=i+1 to ndo

begin

x:=a[i,j]; a[i,j]:=a[}.i], alj.i].=x

end

end;

begin

transposer(a);
nbpalin_colonne:=nbpalin_ligne(a);
end;
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